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(A) 60° (B) 90° () 30° (D) 72°
Study the graph and find the angle of sector of coffee
Consumption

Juice
D Coffee
7z

% Tea
. Water

(A) 60° (B) 90° ©) 3 () 72°
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(A) 26 Hiew I (B) 23 et uffem

(C) 25 e 2o afrem (D) 20 e faor

Anna walks 15 meters south, then tums right and walks another 20 meters. How far and in which direction
is she from her starting point ?

(A) 26 meters north (B) 23 meters west
(C) 25 meters south-west (D) 20 meters south
ST W ST T3 1 A |

Find the next term in the sequence.
AB, ABB, ABBB, ABBBB, ?
(A) ABBBB (B) ABB (C) ABBB (D) ABBBBB
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eI TR 9 ; “FORMATION”

In the following question, four other words are provided as alternatives alongside a given word. One of
these words cannot be formed using the letters of the given word. Identify that wor

Given word : “FORMATION”

(A) TRAIN (B) MINOR (C) MAJOR (D) RATIO

o e 4 A IX % 9T % I ERH A, B, C, D ¥

o @RHA | dRAB | 8WAC | @®HD
2t e & st o 28 23 17 27
sl it 3 sy Aoy 1 12 8 13
anfif: whe # el T
s e 4 sl i " i 9 is
e e 3 Sl o
2t et & sl B 64 55 46 76

e EF AT BT 1 HE F AT A e ¥ FHend ww ) qeen w1 & v §, Feafafen 1 8
T FA TR ?

(A) =i wite sifs o)

(B)  #FT wteTsii 1 s T o Smen e T |

(C)  srefanifes whtegm saferer 3 oft |

(D) T YT %1 FHEATE T erTaT FHA ol |

A school has four sections A, B, C, D of Class IX students.

Resuft Section A Section B | Section C | Section D

Students failed in both exams 28 23 17 27
Students failed in half- 1y but

adents Ffled i half-ycarly b % B : u
passed in annual exams
‘Students passed in half-yearly but
C 6 17 9 s
failed in annual exams
Students passed in both exams 64 55 46 76

In the context of comparing the difficulty level of the two examinations based on the number of students
passing, which of the following statements is true ?

(A) Annual exams were more difficult.
(B The two exams cannot be compared for difficulty level.
(C)

(D) Both the exams had almost the same difficulty level.

Half-yearly exams were more difficult

e el i S ST F U, FEATT F T, “FHRI G S 9T 7 Tl e § 1 9 S e & e
o i &2

@) df ®) (© s o) frar

Pointing to a man, Kalyani said, “His grandson is the only son of my brother.” How is the man related to
Kalyani ?

(A) Husband (B) Brother (C) Nephew (D) Father

Pt o 3, s R e 9152 3 Ty ar vt Rkt % w0 i Ru e # | o9 i o ve 1 Ry g
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TP 5% : “MATHEMATICS”

In the following question, you will find four additional words provided as alternatives alongside a given
word, One of these words cannot be formed using the letters of the given word. Identify that word.

Given word : “MATHEMATICS”

(A) MATE (B) THEM (C) MATH (D) MATTER
g A -
A A T
(A) S ) B 7 (© = (D) H7% (&)

Complete the analogy -
Dog : Kennel :: Lion :
(A) Shed (B) Tree (C) Den (D) Burrow

A p@a=p>+a®+2pg, pHa=p’-a’-2pqd T (T@2)#4 FEHFTE?
If p@ q=p>+q*+2pq, p#q=p°—q°— 2pq, what is the value of (7@ 2)%4?
(A) 6480 (B) 5897 (C) 568 (D) 493
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Find out the alternative which will replace the question mark (?).
243:23%:621:7
A 62 ® 123 ©) 2?2 (D) 612

ST 1 Fager w6, 3 i 5 e e e vt 44 § 1

e ——
«— T
2 fe\ ¢
7 \0
e 5 9 8
(a) 1 (B) 25 © 22 (D) 24

Analysing the figure, find how many red objects are not plastic.

Plastic ——

«—— Balls
2 /6\ 4
7 \I0
Red—> | 3 9 8
(A 23 B) 25 © 22 (D) 24

Foefeafiaa @ F-a1 srite v, B siv fava ¥ e g6y 9 vl s auta 2 0
Which of the following diagrams best indicates the relation between India, Haryana and World ?

»Q@e-3 @ -@2

e g o 31 8§ ko S, e ard i 5 i 6 km T o, et aw arfeedt ST g 4 km Tl | S, T8
2§ SHCH, 18 km Tefl SR A T | T forg 5 e & e R fea

(A ) I © (D) T

Seema ran 8 km towards east, then turned left and started walking 6 km, then she turned right and walked
for 4 km. Finally, she took a right and walked for 18 km and reached her home. In which direction is her
home located with respect to the starting point 7

(A) South-East (B) North (©) East (D) North-East

v Fafer #e s §, 7 98 <PARTNER” 1 “0ZQSMDQ"" % ¥ i Fifed fa=m e &, af 3eft wrar i
1% “SEGMENT 3 fera s m giom 2

Ina certain code language, if the word “PARTNER" is coded as ““0ZQSMDQ”, then what is the code
for the word “*SEGMENT®" in that language ?

(A) QWSARTH (B) RDFLDMS

(C) SERBCPT (D) TFHNFOU

& ehTe s T S s Fraferfiad st i ate s, 9w e, oo F e g, oo, o
o, s A R e, o F AR |

Simplify the following expression using the given code language, where + represents ', " represents

2, represents “+* and *+" represents “+"

16x4+4+14-2
A 35 (B) 28 (©) 40 D) 76

(A) EFTHE (B) miF (©) = (D) e
Find the related word.

Prime : Composite :: Odd : 7
(A) Positive (B) Integer (C) Even (D) Rational

“jrErelT ¥ o e e R |
Find the missing term in the series.
ASBC, A4CE, A3DG, __, AIFK
(A) A2EG (B) A2FI (C) A2EF (D) A2EI

30+10+6-5
If 4" represents
304104 6-5%6"7
@) -10

© 12 (D) —14

1  siren H o wi T |
Find the missing number in the given series.
11, 15,24, 40, 65,7
(A) 100 B) % (©) 95 (D) 101

T w1 e R 15 ;19 % ST 3 T § Her ST SR A1 6 3 - 4 3 SO s o w |
Find the number that must be subtracted from the terms of the ratio 15 : 19 to make it equal to 3 : 4.
*) 3 ®) 5 © 2 (D) 4

e 1 31T e 1 3 H 125% A & | el 6 o 9 s E e gt w6 e

Mita’s income is 125% more than that of Sita. What percent is Sita’s income less than that of Mita ?

(A) 124% (B) 5555% ©) 2.5% ) 22%%

1 il fersrom frfs & it o weaw geTaads (HCF) 21 o s &, st ferrers 2 g @ sffc
e Tt Tt St o o 2, 4 S 2 8 & | 7 < e F1 a A |

When we calculate the HCF of two numbers by long division method, the last divisor is 2 and the
successive quotients from first to last are 2, 4 and 2 respectively. Find these two numbers.
(A 16,20 ®) 12,16 (©) 18,40 (D) 20,24

Ar et ffia feam & 20 frefer s 25 Fesftedey 7 o & et o & | s fe areft et et af
el & e e Gt 1 6 &epve 3w e & | de e el o) A o s A |

(A) 1007, (B) 907, (C) 851, (D) 11074t

Two trains are moving in the opposite directions at 29 km/hr and 25 km/hr. The faster train crosses a man
in the slower train in 6 seconds. Find the length of the faster train

(&) 100m B) 90m (©) §m (D) 110m

o ket 1 64 et 3 i = e P ofterm o | st 659 wift 4, v vt st e et e & amez
BT | 568 SET S 2 T W 8 ST 8 | 36k i w5 st w2

A cricketer had a certain average of runs for his 64 innings. In his 65" inning, he is bowled out for no
score on his part. This brings down his average by 2 runs. Then what is his new average of runs ?

(A) 128 (B) 168 (©) 130 (D) 170
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2 e A T (@ ) A 10% 2R E 4,840 & ST avelt 5 af 2 i 2

What is the sum of money that becomes ¥ 4,840 at 10% rate of compound interest (compounded annually)
after two years ?

(A) 74500 (B) 71500 (€) %4000 (D) 73400

©53,240 Fraifin 3 at § 10% awaf sarsr @i e @ oo 2 1 drge afn e g
A sum of £ 53,040 is aceumulated in 3 years at 10% compound interest (compounded annually). What is
the original amount ?

(A %40,000 (B) 730,000 (©) 220000 (D) 260,000

%o F Afir i sfea whew A @ ) § & ol o et B 13 Al Fi ol B e wabe S
o i 117701 2, & it At o sitere e s @ ) fee &

The average monthly income (in %) of certain agricultural workers is $ and that of other workers is T. If the
number of agricultural workers is 11 times that of other workers, then the average monthly income (in %)
of all the workers is :

S+T 1 S+UT 1LS+T

5 ® oo+T © =5 o) =%

® s 12

e A 3 41 I 9 | 75% Feran 3 303 7 2wet, 5 & 2% w378 e | vk I 1 9261
e forerd & < et AU AT 1 75% 2 | 61 TR Haararsil 1 e e e i |

There were two candidates in an election, 75% of voters cast their votes, out of which 2% of the votes
were found invalid. A candidate got 9261 votes which were 75% of total valid votes. Find the total number
of voters enrolled.

(A) 16,800 (B) 26,600 ©) 11,600 (D) 16,505

250 ¥, 1 20 & v gfermerl 2 v =R R e S R | S g et e a8, s e e
¥ 1 afe a1 e 16 Frafiian & si ferse 1 fa 20 /e @), @ = v S e A e o
> AT

(A) 8507, (B) 9507, (C) 1000 3. (D) 700 %,

A thief is spotted by a policeman from 250 m. When the policeman starts chasing, the thief also starts
running. If the speed of the thief be 16 km/hr and that of the policeman be 20 kmvhr, how far would the
thief have run before he is caught 7

(A) 850m (B) 950m (C) 1000 m (D) 700m

X 3T Y U F w12 Fo S 18 g e €| 3 v e v e e e e 4 f
F AT Y BE ST X St 91 e G e |t g e o o o g g en

1 28
») 18f ™ S © 10k ™ 5
X and Y can complete a work in 12 days and 18 days respectively. They started doing the work together
but after 4 days Y had to leave and X alone completed the remaining work. In how many days was the
whole work completed 7 s

(A) 18 days ®) 7 days (€) 10days D) % days

o ket 40 Rt # o i w3 i a fren da @ ol 25 et 1 Pl wo ¥ 24 B are, @
e & o St w-forerd e ¥ et 2 | a3 e et et = e s e v a4 R et
W

(A) 60 95T B) 70T (©) 10056% (D) 759

A contractor undertakes to make a tunnel in 40 days and employs 25 men. After 24 days, he finds that only
one-third of the road is made. How many extra men should he employ so that he is able to complete the
work 4 days earlier ?

(A} 60 men (B) 70men (€) 100 men (D) 75men

G AR O ] 20% 1 & T | 4 o7 6T 1,200 A H o e, o S8 5% e g | aeq
FF TR

A man sold an article at a loss of 20%. If he could sell it for 1,200 more, he would make a profit of 5%.
What is the cost price of the article ?

(A) T4800 (B) T7.800 (©) %4700 (D) T4850

O T SR A, U e % 5,125 ) e 0 8 o e 3 v 2wl ¥ | 36 61 #05% F
w3 2 T 20% F i v feen 2 aw A S e e W &, e S
e e o 9

Ata village trade fair, a man buys a horse and a camel for a total amount of £ 5,125, He sold the horse ata
profit of 25% and the camel at a loss of 20%. If he had sold both the animals at the same price, then the
cost price of the cheaper animal was :

(A) %8500 (B) 2,000 (©) 76900 (D) £2.500

22%3% 5%, 2% 32 5 1 wEwH T (HCF) 3 F1fre |
Find the HCF of 22 x 3° x 5%, 24 %32 x5
(a) 22x32x7 B) 2?x32x9 (©) 22x3?xs (D) 2?2 x3?x8

90, 128, 144 T EaH FHITE (LCM) 31 e |
Find the LCM of 90, 128, 144.
(A) 5760 (B) 5764 (€) 5758 (D) 5762

21 safer 1 o -afeerat s, R S & U o 3 5 A9 1 65% Wl 3 9§ e & sefn
THE 1 ST ST o ] 80% el B e & 1 a g cAfeh o qer do , g @ & e a8
SRR 7

The total emoluments of two persons are the same, but one gets allowances to the extent of 65% of his
basic pay and the other gets allowances to the extent of 80% of his basic pay. The ratio of the basic pay of
the former to the basic pay of the latter is :

() 5:4 ®) 12:11 (©) 16:13 ®) 7:5

o ST SifER W 20% 1 g2 F R | 38wt oft 5 e v 449, % e g @ ) 7R = sifre e
T R, T %% e e |

A trader allows a discount of 20% on the marked price. He still has a profit of 44% on the cost price. Find
the profit % if he sells at the marked price.

(A) 63% (B) 49% (€) 90% (D) 80%

T A O e G st F1 20% 32 W &, A feefiat i S % foro fawd @z awn
T T 10% Y6 S & | T forsha 38 % 4,002 ifers: i e 2, forwrdr 25% 1 @ arfsf g & | @ s
3 e 1 o e ¢ i e o

A trader sells one item to a retailer at a 20% discount, but charges 10% on the discounted price, for
delivery and packaging. The retailer sells it for ¥ 4,092 more, thereby earning a profit of 25%. At what
price had the teader marked the item ?

(A) %19,000 (B) 18,600 (€) £19,400 (D) 18,000

Faeferfira 8 & v irirs) 2 afi
Pick out the odd one from the following.
3,5,7,9,11,13,17,19
(A) 17 B) 9 ©) 3 D) 19
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A figure is given. You have to identify which among the following pieces is nof required to make this
figure.

& A / Given figure

[]
*) D ®) |7 © q ) E

sfer 8 treft S 1 7 i)

Find the next figure in the series.

?
st & 4 fargw (3siT) 1 719 Fifo 1
Find the odd one out in the series.
B4, D16, F38, H64, 1100
(A) B4 (B) H64 (C) F38 (D) DI6

s Fgsit 1 s s sf |

Find the number of triangles in the figure

(A) 18 (B) 16 © 12 (D) 14
Ferw b & e i) =1 1 fifor |

(A) s (B) firewirs () =it (D) FhrT
Find the odd one out from the given alternatives.

(A) Pizza (B) Milkshake (C) Burger (D) Cookies
Frefefia & & farmm 1 gfi)

Select the odd one out from the following.

(A) 17 (B) 23 (©) 63 (D) 11
Forenm a5 7 ffor |

Find the odd one out

< ré sjEre & X 1 HHfn |
Find X from the given series.
64, 57,50, X, 36, ..
(A) 44 B) 42 ©) 43 (D) 48

e H 3Tl Hen g A |
Find the next number in the series.
280, 275, 265, 245, ..
(a) 220 (B) 205 (©) 210 (D) 215

T8 3 7 800 H e wTgiRer @i Siv i 3 £ 920 % 3 i | e ey v wnd
Arun bought a cycle for % 800 and then sold it for 920, What is his profit percentage ?
(A) 20 B) 10 () 15 (D) 30

A N AN

et ferw u fersbeti 6 & e o  swrelt sk T At |

Find the next figure in the above series from the options given below.

Al PN L

I I il v v
(A) I B) IV © v (D) m

T T () U P S (ZRgH) 1 36w 8 afiese & i vz v aerg
gt (rdterer greTen) A & | 0 e e (i) e A E

A plane intersects a regular tetrahedron in such a way that the intersection forms an equilateral triangle.
How many such planes can do this ?

A) 2 B 4 © 1 D) 3

= fir o ifer 43 ¥ | 8, 2 ard o @ | o, 27 3 ard e @ A 3wk e § 7 2 o, ot sfteam
Fefra | vl ad # a2 2

(a) wi ®) & © W D) few

Four friends are sitting in a row. Sam is to the right of Tom. Amy is to the left of Tom but not next to him.
Rick is between Amy and Tom. Who is sitting at the far right ?

(AY Amy (B) Tom (C) Sam (D) Rick

afz ABC #1 %1€ ZYX B, 41 DEF F1 Fie #1127
If the code for ABC is ZYX, what is the code for DEF ?

(A) VWU (B) VUT (C) WVU (D) UVW
FEHH WA 1 1 A |

Find the dissimilar pair of numbers

g 22 5, & 12 5 28 -
@ 75 ® 7.5 © 31 ® 5.3
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(&) FHE (B) @ (€) = () fr

Pointing to a girl, Vinod said “She is the daughter of the only sister of my father.”” How is Vinod related to
the girl ?

(A) Cousin (B) Grandfather (C) Uncle (D) Father

i o P et 1 s o 3 P s e gt e i s P e
o

Study the following positions of a dice and determine how many dots are there on the dice face opposite
the one with three

BE P

O Y i U T A S S S g A A e, W A 1 g A F A X1 S 3w e @
s s weifera 2

(A) & (B) s (C) wedt (D) st

Pointing to a man in a photograph, Asha said “His mother’s only daughter is my mother.” How is Asha
related to that man ?

(A) Sister (B) Nephew (©) Wife (D) Niece
fei it o =t
(A) A (B) i (©) #z (D) T

Freifeafiera & & werfareh wge 1 A gw wd T 82

(A) - (B) 9 —afre (C) woedt—anfe (D) T — it
“drrat g2 i fonvy et § Pt wmmd 2t 8

A) 13 B) 22 © 12 (D) 11
<o PR w2

(A) HftwE (B) g Rt (©) A5z ot (D) F=RATT HATA

e o e e 6 .o P s 80

(A) e %I ar (B) 1w e (C) FAHamw (D) 5 T T
Tt g ot o s et 2 2

(A) 51 (B) 53 ) 50 (D) 52
T T ISR T FAH R

() 3 ® = (© muf D) a1g
ot e g 1 s &

(A) ¥erfuEwEE (B) f e (C) FEmwIH (D) eges §ure

“OL-IYL-OT 31 A WE 3 e O AT e &
(A) TENAEIE (B) SEEIESE (C) Temab (D) ST
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(A) s (B) 3T (€) =T (D) 3
et § FA-d afu R 2

(A) BN (B) Fermt (c) #d (D) ==
il 7 T TR F A 2

(A) FTA-FA = FM-i\a (B) SR—-T = WU — T STEHT
(C) R - ATHR = & - SFHT (D) sl feft = & — g
“tfier a1 i vea & -

(A) Har B) == (©) fm (D) wqu
Fofenfiaa i & -7 e 6y 1 e 2

(A) THET (B) WA (€) wm (D) THERT
Frefefiera 9 v are =1 = A

(A) gt 1 fren e e 2R
(C)  sAriehanfei %1 e e st &R 1

(B) AwifaT a1 frer S ek g |
(D) swelfert 1 feer e syl @i |
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(A) e T T g R
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(D) e g T € |
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(B) @ o & w, e |

(©) fafenizmd) (D) W S e |
rgelt 8 o o e e % R w v ¥

(A) SFeTert (B) g (C) Ferrwereft (D) FT
siftg 1 e = Em 2

(a) g (B) rafem (©) efe (D) gt
1 foee et € o1 8, 3 ¥

(A) ¥ FdE (B) wlem @ (C) W T (D) Hfer T

“eitebra Fia ¥ foro wfeera ofe Tee qeeen fd e mar an 2
(A) e fier (B) TwfarEra (C) g @ (D) FEmTS

Forerfeafia 3 & - siTgt wwvE firnds & 0
(A) S (B) i —AeF (C) 3l - 3@ (D) -3

T H T R
(4) sgHife (B) Fege (C) wawa (D) %=

AT Y152 1 T ETE e o i
A) FF (B) Imfa= (©) T (D) ford

wifiert forae et safte e ft T O & T ) SifvieaT e ATl B Ferad FE-a R

(A) @F F A (B) et offew et

(C)  gfere & <t o e foveft 1 7w (D) e 7 el

aFefie 1 IereaifeE 167 6 T E 2

(A) ¥y ™ (B) @A™ (€) HvaTE (D) FEWTH
gz 1 i amea & -

(a) T ®) = (©) = (D)
< forw frmsmE w fag 29

(A) wwEH (B) UrEH ©) =4 (D) &=
Freafetfiam & 4 - e e

(A) ®ET (B) T (©) = (D) T

S H - T Y 2
(A) e (B) =R (C) TS (D) FHum

Frfeaftaa # & welt et 1 = Fif

(A) =t Faret der Erm = e i |
(C) 26 5 e ERT A 1A |

(B) A +ft T ST B A T A |
(D) A A 5 T i e A

S 3 e e for S e & weafia B g 0

(A) AT FeEn e FAe [

(C) = ueH

(B) % TER
(D) ToEHT g

. &, 908 94 7Tt uE

fter % St w4 e A 2 €, gufe seft ) sttt d arfew | s e e af, gu e E
S G 8 S g, e i & e | e oft e fo €, e g6 A S S A o e | e
st Tl 1 AT A e 6 g, G A wee T A W, T A 5 e ave
HTHT 4 E T A G e B, ST T 3t P o s 1 g s e = | for gey 1 g
e Areft Taelt , e Rt S | el o vae & T o W W a6 A S o o T e o
ST & | AT ST 1 gl I T | FS, T S A hed T A | I S e @ 3 s
Sl 1 e T, 3 TR A T 2 s | SO g |

Frerferfiaa & & foe arez 1 o e 22

(O ®) 7 (©) fifFm ©) T
T T T 3 v R
(A) Tl TE (B) WRI 9 (C) meffear (D) e

B 9 ST o el o § 3 Aot s e € 2
(A) Tavaroars fim =1 wen dE |

(B) afgar i wele 1 Faqargds qHH |

(C) 37 fararm =R Pt =t wrdsran =1 sFme T |
(D) St e ot |
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SRR i e -
(A) TR 3TN JeTeR SR R | (B) W & | ==t # |
(C) Fawaawtd| (D) = = 5 4 |

Freaferfias # & #i-m frerer gfw 2 2

(A) T TR I JEe S T |

(B)  for o < gt ey <freft et &, soe fim snft 3w 7 €
(©) S FSra T A A E

(D) 5 ¥ Fearerr 3 a4 |

afRw, Xyt anz xeuRg A zefmwand e

(A) =i (B) = (C) = (D) @&
If W is the mother of X and Y, and Z is the husband of X, then what is W to Z 7

(A) Mother (B) Uncle (C) Mother-in-law (D) Sister
I 72 T i |

Find the dissimilar term.
P49, T4, Z64, K9.

(A) K9 (B) Z64 (C) P49 (D) T4
e g A

ST - A <2 2 FH
(A) A B) #@frm (€) e (D) F SRS

Complete the analogy
Oxygen : Burn :: ? : Extinguish
(A) Nitrogen (B) Helium (C) Hydrogen (D) Carbon dioxide

i, foen & e & ifa wregdt Roeeft wrvstt 1 & 1 i, Afirn & eneeft 7 @ i e o o A R Y
e T A R )

(A) Afimr (B) el (© B (D)

Namita is taller than Priya but not as tall as Madhuri. Reena is not taller than Namita but is not the shortest.
Who among them is the third tallest ?

(A) Namita (B) Madhuri (©) Priya (D) Reema

< A ST i 1 33 (@ere) s i fore € a1 ad 8 33 s A 134t s A d 2
Which is the 13™ letter to the left of the 6™ letter from the right when you write the English alphabets in
backward order ?

(A) H ®) 1 ©T D) s

et e e v Tt 3 et oy e fverar & st farfirer e i farpeemTr e o |

22014

2013
[ R

0 10 20 30 40 50 60 70
it it den
T B 3 il 1 s e 2014 3 Rregdtemor S mn o, wea D % it e w1 frn sl @ e
2012 % fregefraor for o 2
(A) 3333% B) 65% (©) 40% (D) 80%

The given graph shows the number of villages in four different states where clectrification was done in
different years.

L e L L EA2014
- EF2013
2o

State B

0 10 0 30 40 0 60 7
Number of villages

‘The number of villages in State B where electrification was done in 2014 is what percentage of the number
of villages in State D where electrification was done in 2012 ?
(A) 3333% (B) 65% (©) 40% (D) 80%

afe; et 3 =1 5 e =TT a3, A 36 A 1 20 AR T R 9 e R s

(A) HTErEaR (B) e (C) dmEn (D) TR

If Thursday will fall on ™ of a month, then which day will fall three days after the 2010 of that month ?
(A) Tuesday (B) Sunday (C) Monday (D) Wednesday

T wiehial, X, ¥, 2, S, P 3 Q, ok genan i wwnd s ddt ¥ i adh wnfe g dm A siw d b,y
e s 3 offa # e 4 8, Sife e & i s AT P o Q wgut Rt 1 Z, 5 3 and it p 3 and
BipFadFAE

Six girls, X, Y, Z, 8, P and Q, are sitting around a circular table. Al of them are facing toward the centre
of the circle. P is not sitting between ¥ and S, but someone else from the group is sitting there. P and Q
are opposite to each other. Z is to the left of § and right of P. Who is left of P 7

@) v ®) s © X D) Z

N 1,2, 6,24, 120 F et em wn g 2
In the sequence 1, 2, 6, 24, 120, what is the next number ?
(A) 480 (B) 720 (€) 360 (D) 650

afe i oaft o 4 ufem o1 iw 3z B A P R sz 2

(a) ot (B) aféff (C) ¥l (D) ufet
If a bird flies from East to West, what direction is it flying in 7

(A) Eastern (B) Southern (C) Northern (D) Westem
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7% 9871 123, 741 31 369 % &9 # whifed 1 a1 &, 1 269 1 e wabm 1Tz frem strwm 2

If987 is coded as 123, 741 as 369, then 269 will be coded as :
(A) 840 (B) 841 (€) 367 (D) 356

@A 2,5, 10,17, FEHfa)
Complete the series 2, 5, 10, 17, .
(A) 28 (B) 26 (C) 24 (D) 32

oG 6, 24, 60, 120, wnref wen |
Find the next number in the series 6, 24, 60,120, .
(A) 216 (B) 210 (€) 236 (D) 218

27 TG 7 7 A G F P e e A e 35% 2, A x wAm A d )
The cost price of 27 articles is the same as the selling price of X articles. If the profit is 35%, then the value
of xis :

*a) 24 (B) 20 © 22 (D) 18

o Tt 3 A S 15 Tt ot &, o o sk g & 3 1 et A oft o # sitand s
¥R E 15 Pl 3 ane a o S gea 8 S viae o TEa  for 15 el A g o e € 1 s e
i P @ et g0 o P oo &

(A) 30~/2 Freht s (B) 302 it afior-afars

(©) 3042 Ffi i (D) 30~/2 Rt aftorgd

A man went 15 km towards North, then turned East and covered 15 km and turned to the left. Again after
15 km he tumed to the right and covered 15 km to reach the destination. How far and in which direction is
he from his starting point ?

(A) 30~/2 km North-East (B) 30+/2 km South-West

(€)  304/2 km North-West (D) 304/2 km South-East

e o 2 s 15 SR et 8, 90 Frfirerer e @ e s el g6 2 1 600 Hiew o ge
9T H o w0 e 2

(A) 42%E (B) 39&=FE (C) 35 8T (D) 37 &FwE

If a train crosses a pole in 15 seconds, how long will it take for the train, travelling at a speed of 90 km/hr,
10 cross a bridge that is 600 meters long ?

(A) 42 seconds (B) 39 seconds (C) 35 seconds (D) 37 seconds

S, VEIER P, S W TH FaTe, 3T, M Rar 2 | v, R\ g |

P,V & form sy g 2 2

@ far ®) ¥ © " (D) W

S is the brother-in-law of V. P is the father of § and T, whe is the father of M. V' is the daughter-in-law
of R,

How is P related to V 2

(A) Father (B) Son (C) Father-in-law (D) Brother

1L xeywmeddx, Yy Hagad
2. XYFIERX YFTE

3 XsY#I s EX YR E

4. XSYF AN Y ATHE

Frerferfia o & P o 8 PR K HAT AT B2

1. X2Y means X is the sister of Y

2. X3Y means X is the son of Y

3. X8Y means X is the husband of Y

4. X5Y means X is the wife of Y

Which of the following means that K is the mother-in-law of H

(A) H2I5I3K8L (B) H8I2J3KSL (C) H3ISJ3K8L (D) HSI3J8L2K

HTE SferR e i e e e 2

(A) 28 fardare, 1993 (B) 10 1, 1993

(C) 109, 1993 (D) 12 firet=m, 1993

The Protection of Human Rights Act came into force on :

(A) 28" September, 1993 (B) 10™ October, 1993
(©) 10" July, 1993 (D) 12" September, 1993
STeel & HTC ST ) 9T S e % H1 ST |

(A) TS 9TE ®) dFdmEas () fagdE (D) fefsea ifem
The cashl in India has b plified with the Indian Government’s initiative of

(A) SwachhBharat  (B) Banking sector crisis (C) Demonetization (D) Digital India

o e e s <A a6 o 2 A e g 2

(A) e (B) WEMEE (C) =% Hfear (D) wF=fa
Which ancient Indian text is known as the ‘Science of Ayurveda® ?
(A) Arthashastra (B) Mahabharata (C) Charaka Samhita (D) Manusmriti

oy T3t =1 aferiedr wiifi e o = H w2

(A) 21 forer ®) 113 (©) 19 3R (D) 1479w
Which day is recognized as International Day of Peace ?

(A) 215 September  (B) 11% july (©) 19 August (D) 14th November
T et Al war e oft

(&) e (B) HrmEdt (€ Sfear e (D) wfsH Trrg
Who was the first female Prime Minister of India ?

(A) SoniaGandhi  (B) Mayawati (C) Indira Gandhi (D) Sarojini Naidu

Tt wferer 3 frg s § aTad 6T 5 e § 2

(A) =T 250 (B) =3 246 (C) i=dm 243 (D) =37 245
Which Article of the Indian Constitution provides for the i of ?
(A) Atticle 250 (B) Article 246 (C) Article 243 (D) Article 245

o ot = fergar wivem forsr faarar 36 & o wormen v @ 2

(A) 259 (B) 19 5Fad (€) 1637 (D) 233
Which day is celebrated as World Metcorological Day ?
(A) 25" March (B) 19" January (€) 16™ April (D) 23" March

Fretferfie & & F19-51 v W w1 W I 2

(A)  gfea wnid witergs Feafze fafie (B) T ey e wifenged fafiee

(C) =z T e (D) T £z i s Hiew fafies
Which of the following is the largest fertiliser producer in India ?

(A) Indian Farmers Fertiliser Cooperative Limited  (B) Rashtriya Chemicals and Fertilisers Lid.
(C) Coromandel International Lid. (D) Gujarat State Fertilisers and Chemicals Ltd.
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TR et i e fow A g A
In which year was the Cyber Surakshit Bharat Initiative launched ?
(A) 2017 (B) 2016 (©) 2015 (D) 2018

G20 3911 «G» arar T w0 A B 0

) = ) T © ©) T
‘What does the letter “G* stand for in G20 Nations ?
(A) Good (B) General (C) Great (D) Group

R ATHI STEE 1 9 SR i e e

(A) M (B) St gt (€ wEmfEE (D) Ut
Fieldwork-based research s classified as :
(A) Experimental (B) Biographical (C) Empirical (D) Historical

e areafis 2, s¥eEe e A 0 AR, (P A Ha i

(A)  ITEt-roT HrE T

(B) wrett e wreitor & 3 fore ve e

(C) 21 e o e 3 fow vk wireet

(D) wmfror &t 3 wrett Gfeamd v

The PURA scheme by the former President Dr. Abdul Kalam refers to :
(A) Providing Urban-Rural Alignment

(B) A Plan for Urban and Rural Areas

(C) A model for the growth of the metro cities

(D) Providing Urban Amenities in Rural Areas

i v i e e # a3 forw Feamferdan ofi e sam et 3 foro #a-ar avre fowarc 2

Which organization is responsible for providing guidelines and assistance for disaster risk reduction
worldwide ?

(A) WHO (B) UNESCO (©) WTO (D) UNDRR

T T S ST Y e o 2

(A) TE% el (B) e g (€) foredrat ireh (D) ife ot
Who authored the book, “An Era of Darkness™ 7

(A) AsafAli (B) PanditSunderlal  (C) Christopher Bayly (D) Shashi Tharoor

TiTerem g = 2 2

(A) g ST A EEsiTEE F S Fe

(B) Tr it Emegem St &

(C) i it srares fafemr seafsla i sragifia st &
(D) g =t aiferdfter Sredt

‘What is Greenhouse gas ?

(A) Gas that absorbs carbon dioxide

(B) Gas that releases hydrogen

(C) Gas that emits and absorbs infrared radiation
(D) Gas that releases oxygen

e dofim st #1 4  veeT den 2
The identification number given to every registered supplier is :
(A) HSN (B) GSTIN (€) GST (D) 1GST

AT 1 WA 2] I U AR Y

(A) WERTY (B) s (C) TS (D) T
‘Which State is the largest producer of bajra ?
(A) Maharashira (B) Haryana (C) Rajasthan (D) Gujarat

i ] forega st 3o v o Frm ot & e 20

(A) e (B) T (€) ey (D)
The Narora Atomic Power Station is located in which district of Uttar Pradesh ?

(A) Bulandshahar  (B) Hathras (C) Hamirpur (D) Hardoi
FAEEE Fren £ sl g g 2

(A) Erem (B) dreefi (©) (D)
What is the official currency of the United Kingdom ?

(A) Dollar (B) Pound Sterling (€) Yen (D) Euro

izt foreton wen E 4 SEnT 3R e dvee 3 Prferfiaa ww 3 e o s

(A) T stz (B) ferfeet frrame (C) = Fram (D) ffe sizam

The distribution of mangroves is mainly found in which of the following parts of the Andaman and
Nicobar group of islands ?

(A) North Andaman  (B) Litile Nicobar (C) Car Nicobar (D) Little Andaman

T T e e o i 8 2

(A) i et e s e e (B) wiiepfieh ST wa i agmEn &

(C) &feeer s 1 faffim ww (D) i wrife s e o= TEn

What is the role of the United Nations Security Council 7

(A) To oversee international humanitarianaid ~ (B) To promote cultural exchange

(C) To regulate global trade (D) To maintain international peace and security

NOAA &7 3eferd & :

(A) T & (ST e )

(B) T B i A S (e S 1 wHesi i)
(€) T T it A da (R S U e i)
(D) e Yo & feru iy smmfer (e iR Wi ady dfenfed)

NOAA stands for :

(A) No Organization At All

(B) National Oceanic and Atmospheric Administration

(C) National Oceanic and Atmospheric Association

(D) National Office for Arts Accreditation
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FH-ET WA T AT F S I R 2

(A) ¥ (B) dfFem e (C) dferrg (D) 3§"
‘Which Indian State is the leading producer of tea ?

(A) Kerala (B) West Bengal (€) Tamil Nadu (D) Assam

T S e el s e 3 for g 35 o it 2003 & Frd i e e

(A) Prmarem (B) forgamm stme (C) ufem e (D) ¥ = fim

Who was nominated as the Ambassador for ‘War Against Waste’ in Jammu and Kashmir in
September 2023 7

(A) VidyaBalan (B) Vishwanathan Anand (C) SachinTendulkar (D) Captain Bana Singh

IFaeR & e o g e R

(A) faficdwmm  (B) DNA wfasf (C) Tt gered (D) S e
What is the main function of ribosome in a cell ?

(A) Lipid synthesis ~ (B) DNA replication  (C) Energy production (D) Protein synthesis

fafeferm 1 arer, fre Fafiear & wifa on &1, & da ot R e 2 -

(A) IR (B)  SWTE e (©) TFETER (D) e T
The discovery of penicillin, which revolutionized medicine, is attributed to :
(A) Alexander Fleming  (B) Jonas Salk (C) Louis Pasteur (D) Robert Koch

a8 o & S Ay A @ afdla e s & i gw R e s 8, fras forg st O
¥ T T P ST |
(A) T ®) T (©) WREW (D) el &
is money that is earned through legitimate means and is accounted for, for which income tax or
other tax is paid
(A) Oldcurrency  (B) New currency (€) White money (D) Black money

e T i e (SRR § -6 e 7e gt & T e e o el e s o

(A) FHETE (B) TR (©) WpiwqEET (D) TfRdE

Which term in the Preamble of the Indian Constitution signifies that India is free from any external
control ?

(A) Socialist (B) Republic (C) Sovercign (D) Secular

wiTee 8 FAvATeriaa 3 & - vaT STl s e de ¥ ofre e 2

(A) T TR (B) TIETS FT3W

(C) BT I R (D) HTETET #7 @R

Which among the following plateaus in India lie between the Aravali and the Vindhya region ?
(A) Deccan Plateau (B) Marwar Plateau

(C) Chota Nagpur Plateau (D) Malwa Plateau

“safufer % e % w0 Rl S S 0

(A) ¥R (B) wTEATTRE (C) Fwew (D) Ifere
Who is known as the ‘Father of Geometry” ?

(A) Aristotle (B) Pythagoras (C) Kepler (D) Euclid

irerer s daw i vt zew (e swsr) # i e e e g o

(A) e I Tt (B) we difad s

(C) ST SRS 1 welteh (D) e Sreeet

‘What is the primary benefit of using analytics tools in social media communication ?
(A) Measuring performance (B) Editing content

(C) Blocking unwanted users (D) Scheduling posts

e, T stfeaforrss 3 Fresrept st st nafafien & Frz o forg et wam 2

(A) MISA (B) UAPA (C) POSCO #faf7 (D) DIR srferfam
In India, which Act provided the framework to deal with unlawful and terrorist activities ?
(A) MISA (B) UAPA (C) POSCO Act (D) DIR Act

1T — & A1 FE aeiie 1 =1 v & 2

(A) e fafafee = fafmfm e

(B) Tk Wi SR T W 5o Fr

(C) e =1 agran &=

(D) TR ST13T 1 =T

What is the importance of India — Russia Annual Summit ?

(A) Regulating cultural activities

(B) Strengthening strategic partnership and defence cooperation
(C) Promoting tourism

(D) Reducing trade barriers

e st 8 iz e e A A e

(A) e ez ST

(B)  aifesa s =i st

(C) T 9T B2

(D) =1 wrdl & ATl #2E w1 T, SR S AT

‘What does the term “content curation” refer to in social media ?

(A) Creating original content

(B) Blocking unwanted content

(C) Deleting old posts

(D) Selecting, organizing and sharing relevant content from other sources

wG Fred s e
SAC code consists of __ digits.
(A) 5 (B) 10 ©) 4 (D) 6

TR ¥ it g 3w H fo s s o 2

(A) TER FeasyT uee (B) wra fifrg

(C) SETeTETe e (D) gy Az
‘Who was known as the ‘Iron Man of India’ ?

(A) Sardar Vallabhbhai Patel (B) Bhagat Singh

(C) Jawaharlal Nehru (D) Subhash Chandra Bose
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(D) RHTY ST T ()

Which intemational treaty, adopted in 1997, aims to climinate the production, stockpiling and use of
chemical weapons ?

(A) Biological Weapons Convention (BWC)

(B) Chemical Weapons Convention (CWC)

(C) Comprehensive Nuclear-Test-Ban Treaty (CTBT)

(D) Nuclear Non-Proliferation Treaty (NPT)

e % forfean e & fom and o st e 7 of 2
In which year did India gain independence from British rule ?
(A) 1999 (B) 1964 (€) 1945 (D) 1947
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